i BT AR S B

—\%¢—%ﬁﬁ&iﬂ»
. MmN R T
=. LEZEZEM

9. PlrBm/ D —flivt

L.




+

—. PR REM
A ARl e ikl v 28R T Ol
o RO TR RN T RE A N AR AR AR
s WAMRAZES TR R Z DA A
(P CEY = it

Y, =p5,.X, + B,X, +&,,

Y, =y, Y, + o X\, + P Xy, + 5,

Y = vahi + VanXo, + B Xy + B X, +




o WORBROZ TR HAR T R, BRARAERE
LAmae il /M A EIE e E, A
15 gt YA AR TR R R AR AR o 55 R 22 AT I
VPSR (7= 5 i 2 N ey g G
HIZ AT EREAE R RE), A E
ftitt o




+

IO [1E:-3 - Z N 1.y

1. FEARHAE

s R R A BRI T RE AR TR, 4
RS HLA XS KPR R BT

] £ ST

ENA

IR AT R
o HI R 2 NS W oD e T ) e Ae 2 S5
ANZEHIAGTE . ZFME T VAR OV A s/

—IRAE T

R S IR, )



leﬂ% /N ARG T P BRI HE T
o WIROL T R AR Y ) 2 %ﬁﬁ
Iy, =BX, +¢g,
= WARZIAN: v, =0X, +u,
o SR A SEMR A ASE LRI R RN :
r'p=0 8 p=TN

o (B R EAL TR S5 T R e U m U Y
A A PR Tl — %%ﬁﬁ%ﬁ




+

(1) M /D SR TH R £ 2022
s AT ZCHT 8 AT R N D

Y, =11, X, +11, X, +L +11, X, +u,

1% 7 R 0 A B0 AT T & 1, = (T, L LT, )
. BRI IR A
I, = (X'X)' XY,




+

XL EA T W) A] LSRR R B TRT 2020
PR AL B Al T SR -

1_Ill 1_112 L HIK
-y alypuaty alip ﬁ ﬁ L ﬁ
I = @-IIHZL Hg): 21 22 " 2K

I, I, L 1lg

-(XX)'X[vy,L v, | (XX)'XY



i(Z) MR SR NS B R L NS LT R R
(Y ARV SR ES = 2 N K iy

o BRI A NS B TN EE
HRKER: p=T1I

o BTSSR AASH
Z [ R &2

B, =




= Wi

(B,
B,
M
Bix
0
M

0
\

i A — a2
i, SRS E I 5N

\

J

p, =T

- (X'X)'X'Y

ZE [l /> e
IR RN




o GBI HUEREY = Y] Rix=l X

£ Y FIX .
(A ) (1
/811 N,
M V12
R M
K x|k x] /)’(I)Kl kx| vov2] g,
0
M M
\ 0 J X 0

10



Xi Xi Xi X12 BIKI Xi Y, Xi Yll Xi Y12

XPX) XPXr]l o | XY, XY X7y




[ A

A
P

- \ﬂlKl )

P

- \1811(1 )

—\ylglj

XY,

(P

XP Y

12



, | 7
Xf] X'| M +[X} Xf] Y| M

\Iéug/ \7;181/
(7 )
M
el x o x x]y
11
M

\IBIK1 )

=| X! XZ’



S xT0 NT) D X T =D X)X
11

Dk
Y R I T AR LR T [ R L T S
PSR BN T it i — i

14



i {3l
o (5 O 2 MR 20400 R T2 et R
) — o FE R R

v xiy x|y x

w ~ o0 O
o
S
O L AN W A
LN D BN W




+

>R

15 BEOR P g A 7

I'__

O =a,+a,b+o3F_ +¢,
O, =p+ 0, B+ [BY, + &,

NIRRT

- e Y =Q. Y =P X =1
X=[1 P, Y]

t—1

16



4

s T YRR T 5
e/ e fdiv

Xyirs

Xys | =

| sy

N |

4
3

—0.17
= 1.11

0.04
0.14

—0.28 -0.10 0.61

0.17
—1.44

R XL, TR
HZN:

0, =5.12-0.69P —0.81P_,

B — IR =AU ]

4@% :

—0.69

41=15.12

—0.81

I

17



+

=. LAZREZEM T

(—)

Bk

it

— =R T AR AN

Y, =a,+ol; +é,

Y,, =Py + B Y+ 6,X, +é&,
Y3t :Kt +Y2t +X2t

1)~ B IR ST AR AR R S 400 TR

18



P ERFCCAASOE KR T8, ATRERREN —LAE. METHRIAREL, 1§
Ji: https://d.book118.com/697144065042006056



https://d.book118.com/697144065042006056

